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Instructions to Candidates / Gicaia 2jaien

(1)  There are 50 questions in the Test Booklet.
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions.

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong. No
negative marking for wrong answer. -

(3)  You have to answer on the OMR Sheet is
given separately to you. For example :
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

®@®0

The true answer is "C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5) Use blue/black inked ballpoint pen for
filling responses in the OMR Answer
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
matetial, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page.

(D

@

3)

Q)
&)

(6)

I P
Do not open the (QJuestion
Booklet until ask to do so.

WL UAYRASHL S8 50 WAL . UdLs Usa-L
ARl GuR A, B, C »1 D U4 16 s 8.
wa+{l wid o Y Riseadl snatHi 2udeal
8. dud oyl % Ua-{lell Gl Al 8,
Ucdls UAL WAL G 2 1(3As) a1 B.
s sl ay [Aseu 31E SR gaqie wld
olRLarmi Q. w2l wdiet w2 51 A8l sUid
%9 Ao,

Gz udl 2 ar Gdaédl (OMR
SHEET) »uMl 8.

G A GelerRL WHIGL 2Nl 8,
elivd 53 o Alell dioll sRa-B-uid
q1d & ?

(A) USRI (B) e~

(C) AU (D) iisMza

Guraél (OMR SHEET)ML

OJOX MO,

GURAS Ul AR G "C" &, 2wl "C'
ad® s19 (encode) 53d 8.

L usyRasiui s34 o aviard -ell.
Geiradldi Gl atedl [ s10l Wl
ollaWtS+2 Ul viuaidi 8. -4 wel, U
3 4RaHl Gualal 53 asi .

udlan et Gl waell A6 uet s,
s, woleldst, swudl, v, s
Sedlifg 3 B2s Afsc, Heuda A+,
YorR, 3esyder 3 -y dlong) Guswil €hat
QU <t GRealn SlA1ds AR g8,
g, udla e veAvie: JuyA s2dl,
Al sl 3 Fdasdl YAy Geesn
539 o S0ura 2eual.

Ws1n Bedl U U 9.

Gxzadl (OMR Answer sheet) & udai 8. ydflauwydl 1 eue Guadl (OMR Answer Sheet)-l uax
3+l ud (Scaning Copy) st Flasa uad sal slie o aslvis elsaidl 284, a3 sl sy2 43l Rideinq)

warai el udla 12 ¥ A GeaiRd Sralas 3adis w04 ole 6sair ud (Candidate Copy) GHealR g
ad o8 s, UAYRASL 217 ol ud GHedR Ydidl 2 @ oS usd.

BPK-21011_B | 1

[ Contd...

AABICraw
ARARRERLA
Aomseh\
Sl onalel
bRt
Sehlanaly



1 The consists of broad trends in the context in which a firm operates
that can have an impact on a firm’s strategic choices.

(A) micro-environment (B) general environment
(C) task environment (D) internal environment
2us qeel-d 3xdw 538 Ful s s1d 52 8 F Ul ygsicns wieallzil wR
AR 52 V.
(A) Y& vulazal (B)  wHy yulazel
(C) s aidiarel (D) qidRs yalael

2 Within the five forces framework, the five most common threats facing firms
from their competitive environment include each of the following except...
(A) Substitutes (B) Complementors
(C) Suppliers (D) Buyers
519 A ol e, wulns didiaeiidl -l 2 sadl uia Qe
A, yedelulal Al edsl wuda 4 8 Raw ¥ ..
(A) A% S(B) ys
(©) [aza < (D) wdleeRd

3 To the extent that a firm’s resources and capabilities enhance a firm’s
competitive position by enabling a firm to exploit its opportunities or neutralize
its threats, these resources and capabliities are valuable and are known as....
(A) temporary competitive advantages
(B) sustainable competitive advantages
(C) core competencies
(D) Strenghts ‘

UL AL 2 el WA d-ll dsi-l Gualal s3aL el dril B QAR
sl Aa et A walos Rl ariR 8. 2L AL 2 A Yeddin

8 A dd....... adld vl sq 8.
(A)  uldl ualons aed (B) 251G uticis alell
(C) ¥y &udvil (D)  alsaail

4 In the BCG Matrix, how would a division with a low relative market share
position in a high growth industry in described ?
(A) Question Mark (B) Cash Cow
(C) Star (D) Stuck-in-the middle
BCG #Rsuni, G2 qfg 4uadl Gellail -l eifid sl [0l Rafd wad-u
(et asld 3l Ad sauui »uad ?
(A) us P (B) 3 56
(C) R () IR CETRPECIDICT)

5 Which is the highest stage of ethical consciousness in business ?
(A) Profit maximization in the short-run
(B) stakeholder concept
(C) Profit maximization in the long run
(D) corporate citizenship
ol Afis Ad-idl G dossl sdl 8 7
(A)  gsPPUIML Y s (B) [Sduirs wa
(C) disoud <48l Hsdy (D) SdiRe -aRsdl
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6 Which of the following theories provides a framework for judging the ethical
nature of a organization ?
(A) Theory of corporate moral excellence
(B) Ethics and staketholder theory
(C) Ethics and corporate governance
(D) All the above
QAaiell s Rigla AL AfLs dead yeris sl d2d 2ny y3uk 8 7
(A)  sluRe Afkis sl Rigld (B) e ¢ [wAsR Rugia
(C) et xnA Adlze slad=t (D) Gudsd du

7 The moral standards of a person are not based on.....

(A) Norms (B) Beliefs
(C) Laws (D) Values
[Fal s el uR suaRd . .. ..

(A) Hikel (B) Hi~ydlil
(C) s1ueL (D) ¥l

8 When a consumer goods manufacturing firm modifies its packaging to reduce
waste, its is practicing
(A) The marketing concept . (B) Green marketing

(C) Consumerism (D) Diversity

YR Geule U4l sAR g2Kddl W2 d-l UBRFRRIL 3R 52 8, AR d ARy 8
8 .

(A) wlEa va B) ol it

(C) Guedsdlals (D) [Raadl

9 Manufacturing processes usually have :
(A) Physical, durable output
(B) high levels of customer contact
(C) output that cannot be inventoried
(D) Low levels of capital intensity
Beuten RBARNAL AL Ad U B
(A) elllus, 2516 2Beye
(B) s Audd G uR
(C) =2uBeyz ¥l S+a-edl s3] wsidl <l
(D) 4l dlstcrs 12 22

10 Which one of the following statements concerning the economic order quantity
(EOQ) model is TRUE ?
(A) An increase in holding cost will increase
(B) a decrease in demand will increase the EOQ.
(C) A decrease in holding cost will increase
(D) None of the above is true
SIS 28R sallRE (EOQ) Wid eilud QA-nioll s34 Ruin w13 87
(A) &l v quimill EOQ audl (B)  Hivmi w21dl EOQ duirdl
(C©) &l waui vl EOQ qqrRd (D)  GuAsdayidl s 0 .
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An important factor for lacating new manufacturing plants is :

(A) Proximity to customers (B) Lacation of competitors
(C) Proximity to markets (D) Favourable labour climate
«dl Beulee L2 dlddl w2 s Hecaysl uRea & -

(A) Aes-l FMsad (B) udsid e

(C) el Fsedl (D) s 23 AdldRBL

Which of the following statements is accurate with regard to assignment
porblems ?

(A) A project can be assigned to more than one person
(B) Only one person can be assigned to each project.
(C) A person can be assigned to more than one project
(D) (A) and (C)

ARl xRl deeldi fAdmidl 54 B u2qe & ?

(A) s NFs2 Bs sl ay afsiq A usia 8.

(B) 38 W¥s2 W2 Wl As o Al dluaini udl a3 8.
(C) s AlHiA As 5l ay NFs2 Al sudl ad 8.
(D) (A) ¥ (C)

Subjective probability assessments depend on :
(A) The total number of trials

(B) Logic and past history

(C) The relative frequency of occurrence

(D) Experience and judgement

(Suerll ATl Hedis il YR BUHR AN D :
(A) 2ra-l go v

(B) dsuRel 2 ofdsio-ll Slsi

(C)  =extirl Aeilia 2nad+

(D) qMa A [ely

The number of cars passing through an intersection in the next five minutes
can usually be described by the :

(A) Normal distribution (B) Uniform distribution

(C) Exponential distribution (D) Poisson distribution

w103 vi MH2ul 2id@euiad] v adl siR-0 v A A sunl gre asldl
wsly & ¢

(A) A RdRel (B) A [adze

(©) =udifly [adel (D) WA [Ade

An Information System includes each of the following except :

(A) Software (B) Culture
(C) Hardware (D) Data
Wil weuelal NA-umisll e3sl uda iy O M ¥ :
(A) AR (B) =sla

(C) sudax (D) 31
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Which of the following is correct regarding opportunities and ideas?

(A) An opportunity and an idea aer essentially the same thing

(B) An opportunity is a thought, an impression, or a notion.

(C) An idea is a favorable set of circumstances that creates a need
for a new product, service or business

(D) It’s important to discern whether a particular idea meets the tests
of an opportunity

sl 2 [RARL 2000 AA-unidl 5§ w0y & ?

(A) 25 ds v QAR 205U Ais % 9 ©.

(B) ds A s [AR, 914 wyal seu-L 8,

(C) 35 AR 31 AANA gz AYS B F <l Gulgt, Al Al
a-dl o3Ruid il ui 8.

(D) A6 AssA AR dsll 020 yel 52 8 3 33 d A4 Hscaysl 8.

Which of the following is not one of the four steps of the entrepreneurial process?
(A) Deciding to become an entrepreneur

(B) Determining how to seize spotlight

(C) development successful business ideas

(D) moving from an idea to a firm

Ariel 53 GelorisRis UBAAL AR dssspiel A 2l ?

(A) Gedldruslus etrald w8l s

(B) wledlfe 3dl fld o 5l d 58l 529

(©) usn Aqanls RARL Rswaal

(D) @5 [auHil U4 ds 0 ayg

The number one characteristic shared by successful entrepreneurs is:
(A) a charismatic personality

(B) passion for the business

(C) a desire to empoly other people

(D) a desire to fulfill a lifetime dream

AsU GelldrAus U8l gL asldd o ws ala@isal © :

(A)  ueuasll «lsia (B) 44l W2 o=l

(C) = gl AUl dunaill S291 (D)  asieie aw y3 sl 291

is the process of determining whether a business idea is viable.

(A) Feasibility analysis (B) Opportunity recognition

(C) Likelihood analysis (D) Achievablility analysis
2 MulRd sl uBal 8 3 s [aR Aas 8.

(A) usudl [A=dvel (B) dsl aaw

(C) RAeua-u =ayel (D) Rifs Rsdvz

Which of the follwoing is not a component of an Information System?

(A) Hardware (B) Data

(C) Output (D) Software

QAiofl 3 sl Rieds ges el ?

(A) suldar (B) 2al

(C) auBeye (D) RAgedR
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Which of the following currency is hard currency w.r.t. international trade ?

(A) Japanese Yen (B) Swiss Frank

(C) Autralian Dollar (D) Renminbi of China
LA-uniel 54 a9l vidAEE AwRul 818 sl a8 ?

(A) eaule A B) Ry 3%

(C) »lglauq dar (D) Al 3Bi-ell

Which of the follwoing terms best describes an intense feeling directed at
someone or something ?

(A) Perception (B) Emotion

(C©) Mood (D) Interaction

Qi 59 wedl AT vadl 555 drs MERA o awel s dd agid 8 ?
(A) HIRELL B) awrl

©€) % (D) Bawlau

The basic functions of management include all of the following
EXCEPT ;

(A) staffing (B) planning

(C) organizing (D) outsourcing
Adoiedl yuejd sl Rrar <1341 dqm-dl Audy du 8.
(A) =l (B) udl%+

(©) 2+ (D) >uG2RiaL

A manager is best described as a person who is responsible for
(A) teaching new emplyees basic jskills

(B) accomplishing the organization's goals

(C) communication with stockholders

(D) delegating authority to subordinates

ORLeR] W2 gaoieR dlz dddy A dd aslaqmi 2ud 8.
(A) «dl s yaed Saed duda

(B) -l @Al Rig sal

(C) RAsdies: Al awdfld

(D) oheL s A Al

Which of the following represents the five functions of planning, organizing,
staffing, leading and controlling ?

(A) strategic management (B) adaptability screening

(C) succession planning (D) management process

Al sy s, 0TSl 2o, vl wuA FHaiami-u wia swld
Wb 2 8 7

(A)  Hsids AAA (B) tdsaniaeidl 2l

(©) GuRUEsR 20w+ (D) eqau-d B
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In the management process, which activity is part of the staffing function ?

(A) developing rules (B) maintaining morale

(C) evaluating performance (D) setting production levels
Yoz B, 6 ugf @uFoL sid-il ey & ?

(A) [MaM Rswaal (B) u-lo ;adl uvig

(C) sl yeuis+ (D) Geulen 2R waqaq

Cost of equity is calculated by using

(A) Turnover of the firm

(B) CAPM

(C) Profit earned by the firm

(D) Compounded Annual Growth Rate of Sales

Gualal s34 S5l Baud-dl ariddl sami »0d ).

(A) Wl e-dailaz B) CAPM

(C) Ul giRl ANAd A8 (D) Qi Asqls wlls gfz €2

A study of teh culture and practices in different societies is called

(A) Personality (B) Anthropology

(C) Perception (D) Attitudes

[Alay eul Argld 2wl e sdudi 204 8
A) <l (B) #larel

(C) wReu (D) aeml

Open market operations of monetary policy are undertaken by
(A) Monetary Policy Committee (B) RBI

(C) SBI (D) Finance Ministry, GOI
gk Wl 20ud wide sxa(ld sy il 2ud 8.
(A) -uufly lla ubla B) Rxd 6s »ls SR
(C) =2 85 s SR (D) ~ugu H-uay,GOI

Which of the following is not a characteristic of perfect competition?
(A) Less number of firms

(B) uncertain demand curve

(C) complete inforamton to consumers

(D) Free exit and entry

QArniell 534 Ayel wald qaw 9l ?

(A)  Su-dlal vu 2l (B) lud nio amis

(C) uehlA dyel wlsdl (D) & [Fs1e 2 wda
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Among following which is the most accurate measure of National Income ?

(A) GNP at market price (B) GDP at market price
(C) NNP at factor cost (D) NDP at factor cost
QAnniell A s el w22 w84 S 7

(A) soR oud Ayl (B) ooR cud @4yl

(©) uRen W vz i@l (D) uRea vl w2 A

Keynesian theory in macroceonomics deals with affecting....

(A) Aggregate demand (B) Population

(C) Natural Resources (D) Pricing policies
AASAABLsuL AR B v R DL

(A) s8R Aid (B) axdl

(C) serdl A (D) [Bua Fale Akl

Which one of the following is not an example of long run cost ?

(A) Average fixed cost (B) Marginal cost
(C) Average cost (D) Variable cost
QA-uniell s34 edondnon- vl Gegel «dl ?

(A) AR M v B) Aaid wa

(C) a1 vl (D) wya vl

Which of the following is not an example of implicit cost ?

(A) Normal profit (B) payment to family labour
(C) Labour hired from market (D) Rent for own land
QA-uniel 53 oUfela vl Geree el ?

(A) ALY -8l (B) 5k uydl wie 3sasll
(C) oAl 1R Al »1d (D) difl ofl w2 o

From the following disciplines which one is not contributing to organizational
behaviour ?

(A) Sociology (B) Physics

(C) Psychology (D) Political Science
Q3 Ranvneid 58 e Al adesHi sl sundl ol ?
(A)  AUAARA (B) ollsurat

(C)  u-illasu- (D) uxsla (asu-
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Who said that “it is consequence not stimulus that causes behavior”?

(A) B. F. Skinner (B) Ivan Povlov
(C) John B. Watson (D) Fred Lutahns
AR s&d ¥ “uReun B % ad-d siReL @ B G- Adl?
A) ofl. s, 3R (B) Saiq wadla
(C)  orgin ofl. dlex+t D) % gae=y

Which model of Organizational Behaviour includes Walfare, Paternalism
and Security ?

(A) Custodial Model (B) Collegial Model

(C) Supportive Model (D) All the above

AL adgs sul M3aui seust, Mged 207 YRl wudy v 8 ?
(A) sARue e (B) sSlalrux Hia

(C) uslus Hsd (D) Gusd dHId

which one is Integration of both Cognitive and Behvioural Framework?

(A) Behavioural Framewok (B) Social Learning Approach

(C) Organizational Approach (D) Cognitive theoretical approach
sAlAfea Pidliyrd 3uak oind Adsawe 54 S ?

(A) PdlRuRa 3was (B) anutlyrs Raeil 2o

(C) sl o (D)  A-itens Agilns xR

i the process of acquiring, training, appraising and compensating
employees and attending to their labor relations, health and safety and fairness
concerns.

(A) Human resource management (B) Career planning

(C) Behavioral management - (D) Job evlaulation

3 sdlai sraotd saidl, didl siyanl, yeisa sl v andz
Sl 2 andR Buar-ll 2 AL sn A%EL, DY A wapidl 203 ~eflugusl
Rictail v Bt suvadfl uBa 9.

(A) A4 AU AU B) sl 20l

(C) adsls - (D) ~sdld yeuis+

The CSR Act has been amended last in

AlAAUR Vs Bed sU1 YHIR S Bl el ?
(A) 2021 (B) 2020
(C) 2019 (D) 2018
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is the procedure for determining the duties and skill requirements for
a specific job and the kind of person most suitable for a position.
(A) Job description (B) Job specification
(C) Job analysis (D) Job context

A A s Dsd W2+l 539 A Ruell 219251 2 we W2 Al Aoy
Al usiA FalRd sl wBa 8.
(A) lsdld asi (B) st wedlsa
(C) -sdl [=dum (D) +lsd) 2igel

Which of the following terms refers to a performance appraisal based on
surveys from peers, supervisors, subordinates and customers ?

(A) committee rating \ (B) team appraisal

(C) upword feedback ' (D) 360-degree feedback

DAriell 58 el Yuaida, AnLEAA 1A AeS-AL A8 U 2HRA
sl Yeuisedl Aeel 20 & 7

(A) bk 2 (B) Ax yais

(C) Guadl dzs ulae (D) 3eo-Rafl uldaie

Adjusted Present Value is an improved version of the following capital
budgeting technique.

(A) IRR (B) MIRR

(C) NPV (D) Discounted Payback Period
Nz Az Aey A DA A aFfol aslsd yarg s S.

(A) IRR (B) MIRR

(C) NPV (D) RRs1G-es W65 nald

The difference between Acquision and Takeover is....

(A) Acquisition is normally friendly whereas take over is unfriendly
(B) Both are unfriendly

(C) Takeover is friendly whereas acquision is unfriendly

(D) None of the above

AMFaad A 25919 42l dgtad B....

(A) AEaBbud w44 Plyst da 8 ol 2sxlar Rl &a 8
(B) 6 Al 8.

() 2s2lar Alyel & qu AEaH BNk 8

(D) Gusanill AF 1l

The brid-in-hand argument of dividend theory supports...

(A) Walter’s Model (B) Gordon’s Model
(C) Both (A) and (B) (D) MM Hypothesis
Rl Rl od-Sn-a- sella aud 200 ...

(A) dlerd qlda (B) ol W3a

(C) oix (A) ¥ (B) (D) MM yduireu
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The cost of equity capital can be computed by following method.
(A) CAPM (B) Dividend Discount Model
(C) Bond rate+Risk Premium (D) All of the above

8508 440 Bua-dl agadl 1A ught gl 59 asiu .

(A) CAPM (B) R RR$iG2 H¥a

(C) o= 2+[s iay (D) GuAsd dHH

Which of the four is not a dimension of product quality ?

(A) Performance (B) Features
(C) Price - (D) Reliability
ARl 54 Geutest dLiaid wlReuy -l ?

(A) usdw (B) «aell

(©) Bua (D) [Rzaulud

Strategic management differs from business policy through its heavier
emphasis on

(A) Formulatin general guidelines

(B) scanning the internal problems

(C) Efficient utilization of human resources

(D) Scanning the exsternal environment.

YBIHS HARY Y~ MR AHIR Sl duAlAL SR A Rl e 8.
(A) iy wRleRist widl

(B) idRs Az wlHa

(C©)  wia AL sidan Gualay

(D) susl qldlaeey BlHat

The internationalization of markets and corporations is called

(A) Normalization (B) economic integration
(C) globalization (D) nationalization

o3 2 AYRUA widAdlage Ned

(A)  wlswt (B) ls A5

(©) alsw (D) ulasel

Which of the following is not a part of buying process sequence ?
(A) need recognition (B) Information search
(C) Evaluation of alternatives (D) Dissonance reduction
(il s wde wBan su-d eusL o) ?

(A) vl o3 (B) ulsdl

(C) [Rsenld yeuis (D) Rl w218
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